Quiz IV; F4360; 2:00 Class; Spring, 1998; page 1 of 2	Name ______________________________





1.  Will management or stockholders be less willing for the firm to undertake projects that increase the firm’s company specific risk?  Why?














2.  List two conditions under which stockholders might want the firm to forgo investment in a positive NPV project if the firm has outstanding bonds.  














3.  What is it called when the agent undertakes some action that provides information to the principal?














4.  List two ways that increasing debt in the firm’s capital structure helps resolve conflicts between stockholders and managers?














5.  In an effort to solve its many problems, Clinton Ethics Inc. implemented an EVA bonus system in 1996 for all of its top executives. Clinton’s CEO had a target bonus of $300,000 in 1997 and an EVA leverage factor of $1,000,000.  Clinton’s target EVA was -$3,000,000 in 1997 and had an actual EVA of -$2,500,000.  Each year, 40% of the balance in the CEO’s bonus bank is paid out.  In addition, 30% of the current bonus is paid out and the remaining 70% is deposited in the bonus bank.  The balance in the bonus bank for Clinton’s CEO was $450,000 at the end of 1996.  What was Clinton’s actual EVA bonus payment for 1997?




















6.  Which of the capital budgeting rules discussed in the review sheet measures the impact of undertaking the project on the value of the firm?




















7. List 3 problems that your firm may run in to if it uses payback period as the primary criteria of whether or not to accept a project.
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Use the following information for questions 8 through 10.  Incredibly Overbuilt Inc. is considering building yet another 16-screen, stadium-seating-only theater in Waco where the old Cox’s building is at Valley Mills and Waco Drive.  For each of the following (8 through 10) you have been asked to determine the impact of each on the after-tax, incremental cash flows to be used in the capital budgeting decision.  Throughout assume a marginal tax rate of 35%.  In each part, use a “+” to indicate an inflow and a “-“ to indicate an outflow.








8.  Ticket sales at the new theater are expected to be $5,760,000 per year.  However, ticket sales at Incredibly’s other theater near the Wal-Mart on Valley Mills (which it recently purchased) are expected to fall by $500,000 per year once the new theater is built).  How will the after-tax, incremental cash flows in year 2 be affected?























9.  If the new theater is built, an initial stock of candy and snacks of $125,000 will need to be on hand at the new theater.  Since it will take one year to open the new theater, this initial inventory will not be purchased until one year from today (just before the opening).  After the initial purchase, inventory levels are expected to grow at the general rate of inflation of 3% per year.  Sixty percent of the inventory will be purchased with cash and the remaining forty percent will be purchased on credit from suppliers.  How will the after-tax, incremental cash flows in year 1 be affected?























10.  The new theater will cost $10.5 million to build.  Thirty percent of this cost will be incurred today (if they proceed) and seventy percent will be incurred one year from today when the theater is completed.  The theater would be depreciated using the 7-year depreciation class with the first year’s depreciation occurring two years from today.  How will the after-tax, incremental cash flows three years from today be affected?


